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1. INEEEER

SSHUEN—NFRIER, IBESTIIRE, REBTENFAER (AIBRSE endStr, HFREITALL
#17) . EARNSHIRERERN, UBPHEHLEIEEH T MR ERE.

BILAEHESE R Java NiBEER C. Go. Python ZH{REWHHUE—FIRIZIES.
FABECH Java SMERESLAERRNBIRT , &ALLa.

2. Java X3

/**
* QIR RFER BTN T
* @param lineLength B7KE
* @param inStr SR T ER
* @param lineSepar #47HF
* @param endStr &fg—4T
* @return LIEEHIFFER
*/
public static String wordWrapData(int lineLength, String inStr, String lineSepar, String endS
r{
if (inStr == null && endStr == null) {
return "";
}
lineSepar = lineSepar == null ? System.getProperty("line.separator”) : lineSepar;
StringBuilder outStr = new StringBuilder(128);
boolean enable = inStr != null && inStr.length() > lineLength && lineLength > 0;
inti = 0, newLength = lineLength, length = (inStr == null ? 0 : inStr.length());
for (; enable && i < length - lineLength; newLength += lineLength, i += lineLength) {
outStr.append(inStr.substring(i, newLength)).append(lineSepar);
if (newLength < length && (newLength + lineLength) > length) {
outStr.append(inStr.substring(newLength, length));
}

}

if (lenable && inStr != null) {
outStr.append(inStr);

}

if (endStr != null) {
outStr.append(lineSepar).append(endStr);

return outStr.toString();
}

/**

* TEST

* @param args

*/

public static void main(String[] args) {
String test = "1234567890123456789012345678901234567890";
System.out.printin(wordWrapData(test, "\r\n", "", 18));
System.out.printin(wordWrapData(test, null, null, 0));
System.out.printin(wordWrapData(null, null, null, 18));
System.out.printin(wordWrapData("RBEZE—17", null, null, 18));
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System.out.printin(wordWrapData(null, null, "REERE—1T", 18));
System.out.printin(wordWrapData("&—17", null, "&5—17", 18));

}

3. ATER

F—IXER:

123456789012345678
901234567890123456

7890

XA

1234567890123456789012345678901234567890

=IXRER:

SBIRER:
REE—1T
FRXIER:
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